Aoz thehfole

AR AT, Al

1

HA A,

al

S

at+b+c
3

ul




o] A o] $447) o, o] AHa] 247} b 9 A A2 AASE BAE
A8 o2 mdstolat

> E.

> & 100a + b

100xa+10x0+1xb =100a + b




ERio] dof7k 2x o]l Eol7by o A7}

Al Ve ?

@xy @ x?%y ® 2xy




. 30

-

ul

)
(@)
o
=
—~—  ©
1o
Gl
ﬂ_rﬂ —
X
5 — |
X
au =
© O
T
< o
s H
= R
I T
S ~—




2 _
x=—4 y=5 D27+ 30y oGS Forefet

2
x2+3xy=(—4)2+3><(—4)><§=16+(—8)=8




6. a=5b=-3% 1 a+2? b2 S Fotoiet,
Ch "

>
> =g 26

a+26%—b="5+2(-3)% - (-3)
=5+18+3=26







o2 4 8 Aﬂﬂliﬂﬂ%mﬂ/ﬂ Zﬂ*lo& E%—Hl ot FAleltt. 7|7}t
Z, %, 15
x: 7] (em), y: 5 (ke
o)=Y w100
(H1Rke) (x - 100) x 0.9
HotE 25
oM 95" | g zug
95°7% ~ 120" [ AAA=
120°7% ~ 130°™ | Azwgt
130°% ~ 150" | Zzugt
150°7% ~ W[ pmwmr
@ Azn @345 ® Awmuw
@ FLH|gt ® AL H|gt
x =170, y = 632 ZtZ} tj Y5t
Hobe) = — Y w100
(IR (x —100) x 0.9
63
= x 100 = 100
(170 — 100) x 0.9
wreba] H|THE 7} 100 0] B2 9] 3ol A Aol &3t




